[image: image1.jpg]BHIET

EI R A

FAL

@ F+—E PR NFEEBLUERE NI
NEFRIREFE

AA

&

— R = (EET 4,565, )

‘ - NS SRS SUSaeliT. e R
Lt B T g T BT Jo

LERA R LRI xS ML Bk A 23
A B (BARRE S E)H 25 A, AL B2 LK EN 5
A Ao

RN, £ 0EHT, RE2ERNEARNRER MR
0,2,4,6,8. WREABHT, R4 ERHERKHHERN Y
0,4,8, 4 A/ R( ).

4 —AHH 169 EXHAEEE AR, 8T —2BTRL R
RERTRANZ . SREAH RHIBERTEUT HLARTE

B BE B A T LA Sk BT B A 3 7, I A 3T #Y R IR ( VKo
AN S5HMHAARERTFHEK—H(pEE),

‘ mER TR E AR LR )o
-n!ﬂ 6O, E - REEEMNTF2
BEGTHENHS ESHFHE, H—F
2 EAFLPERNTEARA 2 HFH A RENBRTHE, HL b
R T ( VAN o
A 7.AABC %, % D7 AB t,AD=

L AB, & E % BC k BE=1-BC, A F

:
:

# CA -_i:,CF:—;——CAO E & ¥

B4 ADEF # & 8 2 25, M AABC #
m R A ( ) o
8. 0% 93X+ AM¥F T4 INEB S BERWAEAL

HFW AR

:\ﬁj$ﬁm@:(§ﬂ llﬁ\’%44 é}o )
ST TS IEPCE ) PR 90 "N
l.aénA_(1+2+3+ +2010 )x(2+3+4+ +2011),





[image: image2.jpg]1 1 da0F . . N
B(1+2+3+ 20“ )x(2+3 X 2010)0 KuEAfB WAMXR,HF

KEABRBENENZ,

2w E HAEF HEHE—#£,CDF £ C HEL,CD p ¥ EHELZ—E, B
KEFHBEH 4 FHLRRBL2ERRZS D7 (AAER3.14)

SEEE PN RRER AEAER  WREARLTALIORE, REERT
HBKE  wEATNE AUNBIRER2TKE. ARARA 31 &, Mk %& 30
0.7+(31-30)x2=23(JC) o

BaEXEA b FRFLEARHARYE, FRULRSRTRK ST 8 A%, I#]
BLARERT # D RR?

4 HE6ABKH2LEXANENZ AN 2ABKEAN 2 ERNETH, WH. LR
Rty - BRAH A - ARABF-ANLH. FEH %N T B o





六年级中环杯参考答案（本答案仅供参考）
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2. S=12.56；
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